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Assessment Name : OPRB CBRE Warder- 22nd Dec 2022-SL-1(A),
# QUESTION
Subject: General English | Chapter: Set-6

Q) I saw him the road.
A. to cross
) v B. Cross
Options
C. crossed
D. has crossed
Q®) They expected by air.
A. travel
v B. to travel
Options
C. travelling

D. travelled

Q@3 I would like you my uncle.
A. meet
) v B. to meet
Options
C. met
D. meeting
Q@) What was the notice ?
A. at that you were looking
v B. you were looking at
Options
[ 8 you were looking at it
D. which you were looking

Q3 The teacher said to the boy, "Leave the room at once" (Change into Indirect Speech)

A. The teacher forced the boy to leave the room at once.
) B. The teacher requested the boy to leave the room at once.
Options
JC. The teacher ordered the boy to leave the room at once.
D. The teacher advised the boy to leave the room at once.
Q (6) If the bus to the airport hadn't been so late, we the plane.
v A. would have caught
. B. caught
Options
C. would catch
D. had caught
She is always giving herself airs.
Q)

The underlined idiom means
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A. trying to impress people with her superiority.
B. acting in a proud way.
showing an affected manner intended to make her appear educated, elegant, etc.

v D. all the above.

Q@) He fall from the tree, but fortunately he was

A. mishurt
B. inhurt
Options
v C. unhurt
D. dishurt
QO The old man has no to lift the box.
A. strong
B. strongly
Options
strengthen
v D. strength
Select the antonym of
Q (10) s
malignant
A, mortal
) B. internecine
Options )
benign
D. lethal

In many industrial or manufacturing workplaces, managing hazards is essential for a
successful health and safety system. Hazard management is an ongoing process that goes
through five different stages, with each step becoming a stage on a tire hazard management
plan. The first step is to identify potential hazards, remembering that hazards are classed as
anything that could potentially cause harm not only to people but also to the organization. To

Q(11) | illustrate, an industrial accident can cause an injury to employees, but can also result in lost
production, broken machinery, and wasted resources for the company, In many cases, local
and national government legislation has strict regulations concerning hazard identification,
and in many industries, especially those perceived to be dangerous, severe penalties can be
incurred by companies overlooking such hazard identification.

Why is managing hazards essential in industrial or manufacturing workplaces?

A. For well-being and protection of the workers

) B. For health reasons
Options
For workplace safety

JD. All the above

Q(12) ' In many industrial or manufacturing workplaces, managing hazards is essential for a
successful health and safety system. Hazard management is an ongoing process that goes
through five different stages, with each step becoming a stage on a tire hazard management
plan. The first step is to identify potential hazards, remembering that hazards are classed as
anything that could potentially cause harm not only to people but also to the organization. To
illustrate, an industrial accident can cause an injury to employees, but can also result in lost
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production, broken machinery, and wasted resources for the company, In many cases, local
and national government legislation has strict regulations concerning hazard identification,
and in many industries, especially those perceived to be dangerous, severe penalties can be
incurred by companies overlooking such hazard identification.

What is the first step of a hazard management plan?

A. Evaluate the risks involved
) B. Analyze the harm
Options
C. BothA& B
VD Recognize the risks involved

In many industrial or manufacturing workplaces, managing hazards is essential for a
successful health and safety system. Hazard management is an ongoing process that goes
through five different stages, with each step becoming a stage on a tire hazard management
plan. The first step is to identify potential hazards, remembering that hazards are classed as
anything that could potentially cause harm not only to people but also to the organization. To

Q(13) | illustrate, an industrial accident can cause an injury to employees, but can also result in lost
production, broken machinery, and wasted resources for the company, In many cases, local
and national government legislation has strict regulations concerning hazard identification,
and in many industries, especially those perceived to be dangerous, severe penalties can be
incurred by companies overlooking such hazard identification.

According to the passage, how many stages should hazard management undergo?

VA Five distinct stages

B. More than five stages
Options N
: Almost five different stages

D. More or less than five stages

In many industrial or manufacturing workplaces, managing hazards is essential for a
successful health and safety system. Hazard management is an ongoing process that goes
through five different stages, with each step becoming a stage on a tire hazard management
plan. The first step is to identify potential hazards, remembering that hazards are classed as
anything that could potentially cause harm not only to people but also to the organization. To

Q (14)  illustrate, an industrial accident can cause an injury to employees, but can also result in lost
production. broken machinery, and wasted resources for the company, In many cases, local
and national government legislation has strict regulations concerning hazard identification,
and in many industries, especially those perceived to be dangerous, severe penalties can be
incurred by companies overlooking such hazard identification.

What are the risks involved in an industrial accident?

A. Injuries to the workers

) B. Enormous impact on the economy
Options . .
Loss of productivity

sD. Both A & C

Q% In many industrial or manufacturing workplaces, managing hazards is essential for a
successful health and safety system. Hazard management is an ongoing process that goes
through five different stages, with each step becoming a stage on a tire hazard management
plan. The first step is to identify potential hazards, remembering that hazards are classed as
anything that could potentially cause harm not only to people but also to the organization. To
illustrate, an industrial accident can cause an injury to employees, but can also result in lost
production, broken machinery, and wasted resources for the company, In many cases, local
and national government legislation has strict regulations concerning hazard identification,
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and in many industries, especially those perceived to be dangerous, severe penalties can be
incurred by companies overlooking such hazard identification.

According to the passage, on what basis has the government imposed strict regulations
on the industries?

A. Danger to the life of workers
) B. Failing to observe hazards
Options
Recognition of threats
D. None of the above
Translate in to English:-
Q (16 " - o~
2 I QGGIS{'B"ESL d9% a@oRs |
A. The government had prepared the report.
v B. The government have prepared the report.
Options
The government were prepared the report.
D. The government have been preparing the report.
Qa7 Translate in to English:-
e 69 616 6P C1IF0IQ 9 6QUTI 2192ART |
A. He had been suffering from fever since February last.
) B. He had been suffered from fever since February last.
Options
JC. He has been suffering from fever since February last.
D. He has been suffer from fever since February last.
Qs Translate in to English:-
1% dIggl QIR I 64 68IRUGEIER 2RI |
A. He will stay in the playground till past five o'clock.
B. He stay the playground till five o'clock.
Options ) .
v C. He stayed in the playground till past five o'clock.
D. He was staying in the playground till past five o'clock.
Q.9 Translate in to English:-
( 64 Gle Y FVAER 651 AISIQ MRS |
v A He has written to me regarding his health.
B. He was write to me regarding his health.
Options
He had written to me regards his health.
D. He will written to me regards his health.
Translate in to English:-
Q(20) 2 oA I
W% 2lag AIESd 62RI IR deeiml |
Options | 5 The house is empty for five years now.
B. The house were empty for five years .
C. The house have been empty for five years .
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JD. The house had been empty for five years now.

Subject: Odia Language | Chapter: Set-6
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B. agl
JC, aom
D. 6dI5e
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A. Ml 99° 9@l 96169 90 HIRAIDES
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Options _
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Q@B
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Options _
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Options 2
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Q(10) 2RISR T APRCIA SIGRI0 - IT 2¢] 92F KRS UIR 69Q Q@S T6LUS AR 2

A, 2]l 629 RILIR FIM
B. 6219 IR 87 {8
Options o
C. 2% dtees 65lIae o)
sD. €9 Q6m Qg f6m

R°AUR1 AFERAR 0K 3G AL LR |

Let not the grass grow under your feet.

Q (11)

A. Q2 9619, /912 1T @Y FId 8 |
B. Q@gqldyeq 92 99 K612 91F |
/C. 9@gqIdy 9e8 92 999 K512 Q1T |
D. Q2 deg es oIF @Y fIdy o9 |

Options

R°AUR1 2AF6RYR 0T 3G AFRIQ LG FQ
The teacher's words have cut him to the quick.

Q12)
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A SR8 26l F1969 QIR RITIRAI |
I 92l 8 AR6A AR RITK |

Options _ L
slRTE @2l " (16D LR MR |
S9ae @2l Ol A1R6R VIR RIGAIEA

Q (13) R°QUR1 AFERRR A0S BH2 2AGQUQ SR /R

" The gardener would not let them touch the flowers. "
A 66168 FRYET BRI AIRIT 290G 646 QI |
J/B. 69010 PMIYLY @ﬁ@lﬁ AIMG QG 699 QD |

Options _ - = =
69019 PRIGT 8RS AIMT 2AGAT 699 |
D. 69168 ¥RYET 2ORIG FIRIG 29FE 69R& |
R°AUR1 2AFeRR 0K 352 AGRIQ FUG AR
Q (14) . 5%
[ noticed the snake raise its hood.
A <I9 P8l 650N € 6QYRIT |
B. g P&l 69N ¢ 69 |
Options

2. Q9 &l 65RRUR ¢ 6THYM |
D. <9 8l 68R9IR ¢ 69T |
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o ) AGUAIRG gl Q2RI ALETER @°a AFR |
ptlD[lS ” & y S o
/C 6LRQLER VFIGIER QERT 69719G QUCRIG KARIg 68088 9T 7S,
' AQUAIRG 9 TRAIQRILIQ AURCEFER &°2l QS |
5 6d9FI6S AFSIER AERT 697leg AUCAIT FRIg 6457 gRI FigR, ARIE
' CRISFIRE 696 Sl IRAIQRSIQ AREHER @°2l AFR |
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Q(20) R \
I used to receive birthday presents from my friend every year .
A. 6911 9F AIeE 0IQ €] 96 9F QaeIa A |
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Options

¢ 9@ od 661l 9 flea 019 RULIR AIRR |
D. ?i’g]@ od el Qf ¢lew Ol QULIRN OIGIEE‘ 1
Subject: General Studies and Computer | Chapter: Set-6

Q@ The scientist "Markowni" of which country invented radio ?

A, German
) v B. Italy
Options
Japan
D. America

Q(2)  The stars twinkle at night because

Options | 4 they emit energy
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B. of diffraction
JC. of refraction

D. of reflection
Q (3)  One megabyte equals approximately

A. 1000 bits
B. 1000 bytes
Options o
JC. I million bytes

D. 1 million bits

Q4 Porus was defeated by Alexandar at the Battle of .......

A, Buxar

) B. Heart
Options

. 63 Kabul

v D. Hydaspes
Q5 Mahmud of Ghazni attacked India mainly

J A to plunder the wealth of India

) B. to establish his empire in India
Options ) i
C. to spread Islam in India
D. to take the famous artisans of India to his court

Q (6) In which region of India was the Suharawadi order of Sufism popular?

A. Delhi and Bihar
B. Delhi and Doab region
Options
JC. Punjab and Sindh
D. Around Ajmer

If you receive an e-mail with an attachment from a company saying you just won a million

oW dollars, but you have never heard of the person who has sent the e-mail. What should you do?
A. Go to the website and fill in the information so that you can get your prize.
J B: Delete the e-mail.
Options
C. Delete the attachment only.
D. Contact the person who sent you the e-mail.
is a version of Google's Android operating system designed for smartwatches and
Q@®)
other wearable devices.
A. Android Tear
) vB. Android Wear
Options

& Android Near
D. Android Deer

QO What are Java, Perl and Fortran?
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A. Types of plastics
) v B. Computer programming languages
Options )
Operating systems

D. Types of coflee

Q (10) | Fructose, raffinose. mannose and dextrose are different forms of

A. Slat
B. Ester
Options )
Acid
v D. Sugar

Q (1) which pagination options forces a paragraph to appear with the paragraph that follows it in

MS-Word 2010 ?

A. Keep lines together
) B. Window/Orphan control
Options )
Keep with next

D. page break before

Q(12) Calamine lotion used as anti-itching agent mainly contains

A. Sodium
B. Phosphours
Options )
Potassium
JD. Zine

Q (13) Speed and velocity are often wrongly used interchangeably. What is the one factor that

differentiates velocity from speed ?

A. Time
) B. Distance
Options o
V4 On Direction

D. All of these
Q (14)  Who was leader at Kanpur during the revolt of 18577

A. Liagat Ali
v B. Nana Saheb
Options ‘
Veer Kunwar Singh

D. None of these
Q (15) | The chemically inactive gas present in the atmosphere is

A. nitrogen
) v B. argon
Options
water vapour

D. oxygen
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Q (16) | Which of the following pairs is correct?

v A. Shale - possesses laminations
) B. Quartzite - soft rock
Options ) ‘ ) )
€. Granite - sometimes contains fossils
D. Basalt - coarse grained rock

Q (17) = Venice in Italy and Vienna in Austria are famous for

A. pottery
) v B. glass industry
Options
. chemical industry
D. textile industry

Q (18)  World's leading producer of fertilizers is

A. UK
B. India
Options
G USA
D. Russia

Q (19)  Hussain Sagar lake is located in

A. Jaipur
] B. Srinagar
Options
C. Bengaluru

JD. Hyderabad

Q (20)  The resource which can be used continuously, year after yvear are called

A. Biotic
: B. Abiotic
Options
Non-renewable
JD. Renewable

Q (21)  Who said 'Swaraj is my birthright and I shall have it' ?

A. M.K. Gandhi
J B. B.G. Tilak

Options
GK. Gokhale
D. B.R. Ambedkar
Q(22) Which state is to the South of Odisha?
Options | /A Andhra Pradesh
B. Himanchal
. Kerala
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D. None of these
Q (23)  Which war materials were produced in India to supply to Britain during World War I?
A. Gunpowder, cannons and other ammunition.
JB. Jute bags, cloth for army uniforms, tents and leather boots.
Options . )
Medicines for the wounded soldiers.

D. Hammers, axes and other building material.

Q (24) = Which War caused new problems for Indian weavers?

JA. The American Civil War
) B. First world war
Options
Second world war
D. None of these
Q (25) India's first green tech-based Technology Business Incubation or Inclusive TBI (i-TBI) will be

set up in which institutions?
JA. NIT Srinagar
B. NIT Patna
NIT Agartala
D. [IT Mandi

Options

Q (26) = Which nation's navy and India's signed a white shipping information exchange agreement?
A. China
Australia
Options )
Russia
J D, New Zealand

Q (27) | Who has been named as the new Defence Secretary by the Government of India?

A. Ajay Bhatt
) B. Amarendra Tiwari
Options )
Aramane Giridhar

D. Radha Sridharan
Q (28) = Who has won the Women's Ballon d'Or award or Ballon d'Or Feminin Award?
A Megan Rapinoe
S v B. Alexia Putellas
Licke Martens
D. Marta
Q (29)  Prime Minister Modi has launched 'Mission LiFE' in which state?
Options | , A, Gujarat

B. Himachal Pradesh
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C. Uttar Pradesh
D. Madhya Pradesh

Q (30)  How many Jail Circles are there in Odisha ?

A. 13

) B. 30
Options "

D. 15

Subject: Numerical Ability and Reasoning | Chapter: Set-6
Q@ The number 1.101001000100001... is

A. a natural number
) B. a whole number
Options .
a rational number
v D. an irrational number

QQ2) (16)** is equal to

A. 2
B. 4
Options
v C. 8
D. 16

In the following question, four/five pairs of words are given , out of these pairs one does not
Q@3 bear the common relationship which the rest do. You are required to find that odd pair.

(a) Oil : Lamp (b) Water : Tap (c) Oxygen : Life (d) Power : Machine
A. Oil : Lamp
JB. Water : Tap

Options B
Oxygen : Life
D. Power : Machine
Q) Choose the odd numeral pair/group in each of the following question.
(@1,2 (b)2,5 (¢)3,10 (d4,15
A. I 2
B. 25
Options
3,10
v D. 4,15
QG In the following question one term in the number series is wrong, Find out the wrong term.

376, 188, 88,40, 16, 4, -2
Options | A 4
B. 16
C. 40
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/D. 188

Q (6) The sum of place value and face value of 7 in the 97582 is

J A 7007
B. 7002
Options
G, 7001
D. 7009
Q(7) | The value of 4/ ﬁl—goj..s
A. 2
JB. 3
Options
C. 9
D. 11
Q8) Ravi is 7 ranks ahead of Sumit's rank is seventeenth from the last, what is Ravi's rank from the
start?
A, 14th
B. 15th
Options
S 16th
D. 17th

QM A person crosses a 600 m long street in 5 min. What is his speed in km per hour?

A. 3.6
JB. T2
Options
03 8.4
D. 10
Q(10) The average salary per month of 30 employees in a company is Rs. 4000. If the manager's
salary is added, the average salary increases to Rs 4300, what is the salary of the manager?
A. Rs. 10000
B. Rs. 13000
Options
G, Rs. 12000

v D. Rs. 13300

Q (11 The first odd number is 1, the second odd number is 3, the third odd number is 5 and so on.
The 200th odd number is

v A 399
B. 421
Options
G. 357
D. 599

Q (12) | Find the HCF of 1/2 and 3/2
Options A. 3/2

s
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/B. 12
£ 1
D. 3

The HCF and LCM of two numbers are 21 and 4641, respectively. If one of the numbers lies
between 200 and 300, the two numbers are

Q(13)

A 273,357
B. 210,340

Options
. 215,314
D. 210,2521
The average age of a man and his son is 27 yr.The ratio of their ages is 8:1,respectively. What
Q) . el
will be the son's age after 6 yr?
A. 6yr
) B. 14 yr
Options
v C. 12 yr
D. 8yr
Q (15) The sum of ages of a father and son is 45 yr.5 yr ago,the product of their ages was four times
the father's age at that time.The present age of the father is
A. 39 yr
) v B. 36 yr
Options
C. 25 yr
D. None of these
Q (16) 1 yr ago.a father was four times as old as his son.In 6 yr time his age exceeds twice his son's
age by 9 yr,The ratio of their ages is
A. 13:4
i B. 12:5
Options
J . 11:3
D. 9:2
Q(17) The price of a product of a company increases by 10% and the turnover increases by 10%.
What is the change in quantity sold?
A. 10%
B. 8%
Options
C. 20%

v D. No change

Q (18) Asha's income is Rs 12000 per month. She pays 20% tax on monthly income above Rs 2000
and she spends 30% of the remaining income. How much does she save annually?

Options | 4 Rs 70000
B. Rs 60000
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Wi o Rs 84000
D. Rs 50000

A trade man marks his goods at 20% above the CP and gives a discount of 10% for cash

Q9 payments. What profit percentage does he make ?
VA 8%
) B. 6%
Options
10%
D. 12 %

An article is listed at R 900 and two successive discounts of 8% and 8% are given on it.How
Q (20) | much would the seller gain or lose,if he gives a single discount of 16% instéead of two

discounts ?
A. Gain of Rs 4.76
v B. Loss of Rs 5.76
Options
Gain of Rs 5.76
D. Loss of Rs 4.76
Q@ The monthly salary of A,B and C are in the ratio of 2:3:5.1f C's monthly salary is Rs 1200

more than that of A then B's annual salary is

v A Rs 14400
B. Rs 24000

Options
Rs 1200
D. Rs 2000
022 Amit walked 30 m towards East, took a right turn and walked 40 m. Then, he took a left turn
and walked 30 m. In which direction is he now from the starting point?
A. North-East
f B. East
Options
J & South-East
D. South
Q(23) Ramesh is the brother of Amit. Sushma is the sister of Satish. Amit is the son of Sushma. How
is Ramesh related to Sushma?
A. Father
) B. Brother
Options
Son
D. Nephew

Two stations A and B are 110 km apart on a straight line. One train starts from A at 7 am and
Q (24) travels towards B at 20 km/h speed. Another train starts from B at 8 am and travels towards A
at a speed of 25 km/h. At what time will they meet?

OptiOl’lS A. 9am

v B. 10 am
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C. 11 am
D. None of these
Q (25) A train running at certain speed crosses a stationary engine in 20 s. To find out the speed of
the train, which of the following information is necessary?
A. Only the length oh the train
) B. Only the length of the engine
Options

C. Either the length of the train or the length of the engine
v D. Both the length of the train and the length of the engine

Q (26) = What is the probability of choosing a phoneme at random from the word NATURE?

A. 5/6
B. 1/6
Options
C. 1/3
v D. 1/2

Q (27) = What is the median of the first 10 prime numbers?

A. 11

B. 12
Options g

C. 13

D. 14

Q (28)  What is the locus of the intersection of the equationx +y=2and x-y=07?

A. (0,2)
B. 154
Options o (Y
. (1.-1)
D. (2,0)

Q (29) Which of the following pairs of equations has a unique solution ?
J A x+y+1=0andx-y+1=0
B. x+y +1 =0 and 2x + 2y + 2 =0
C. 2x-y+3=0and -6x+3y+5=0
D. 2x-y+3=0and -4x+2y-6=0

Options

Q(30)  3x?-2x-1=0 What is the product of the root of the binomial equation ?

A. 1/3
JB. -1/3
Options
C, 2/3
D. -2/3
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